LO: To compare numbers up to 1000.
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2) Read each statement and decide whether it is correct or incorrect.
If itis incorrect, explain how you would correct it

. 5165498

+ Eight hundred and sixty-three > eight hundred and ninety

+ Three hundred and five < 299

+ 473 = 4 hundreds, 7 tens and 3 ones
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1) Wizard Wanda is experimenting with exploding potions.

She uses 670 newt eyes and 410g of dragon scales in her first potion and it does nothing!
She knows she needs more of each of the ingredients for it to work.

‘She uses 720 newt eyes and 450g of dragon scales in her next batch and the explosion is far too big!
She knows she has used too much of each ingredient.

@) Suggest how much of each ingredient she should try next.

b) Explain your reasoning:
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1) Place the numbers in the correct order from smallest to greatest to read the answer
to the riddle: If you put me in a barrel, the barrel will get lighter. What am 17
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2) Scott has ordered these numbers from greatest to smallest. He says he knows he's
correct because he has placed the numbers with the greatest digit sum first.

498 467 513 323 w11 200
Explain his mistake to him. How should he fix it?





